‘CHAPTER"

Q.1 ACST-9sleeper consists of

{a) twoinverled lriangular pots on either side of
rail seal

{b) acentral plate witha projecled key and box
on the lop of plate

{c) atie bar and its cotier o connect weo casl
iron plates

{cy All of tho above

The main disadvantage(s) of steel sleepar is(are)
(a) it gels tusted quickly '

(b) ils legs somelimes get brokon

{o) its legs somelimes got split

{d} All of tho above

The spacing of sleepers

ta) throughoul the length of rail is kept uniform
(b} cear rail joints, is kept closer

(c) al the middle of rails is kept closer

{d) Naneofthese

Q.2

Q3

Q.4 formetat sleepers with round edges, maximum
size of ballast is
{a) 50mm {h) 40mm
{c) 30mm (d) 25mm

Q.5 Theeffeclivebearing area ol alltype of sleepersis
(a} 0.40m? {o) 0.42m?
©) 0447 {d) 0.46m?

Q.6 Railjoint supported on asingle slecper, is knosn as

{a) suspended rail joinl
{b) bridge rail joinl
{c) supported rail joint
{d) square railjoint

Q7

Cansider the faltowing statements
1. Heelblocks are inserled belween the heel of
the tongue rait and stock rail

Sleepers .’
1.{d) 2. (d) 3.(c) 4.(b) 5. {(d}
11. {b) 12. (c)

Railway, Airrt,‘Dock, Harbour and Tunnel Engine

ering

Sleepers

2, Streicher bars are used 10 connecl longue raits

3. Swilch lie plate is provided below the slide
chairs at the 1oe

The correct statlemeni(s) is {are}

{a) only 1 {b} both1and3

{c) both1and 2 (d} 1,2and3

Q.8 Choose theincorrect statement from the following.
{a) Sleepers transfer the load of moving
tocomative to the girders of the bridges
(b) Sleepers acl as a non-elastic medium

between the rails and ballast
{¢) Sleepers hold (he rails al 1in 20 till inward

{d) Sleepars hold the rails loose on curve

Q.9 i nis lenglh of a rail n mewres, the number of
sleepars pet rail length generally varigs from
(@) ne{n+2) ) (n+2to(n+4)

©) (n+ 2Atofn+7) (@) (n+dwo(n+s)

Q.10 If Sand H are strength and hardness index of a
limber at 12% moisture content, the composile
slagper indexis

H+108 S+10H
@ 2 ®

205 +H S+ 20H
© g @ 5

Q.11 Composile sleeper index determines
{a) number of sleepers per rail lengih
{b) sunability of woaden sleepers
{c) permissible stresses in slcel sleepers
(d) noneof these
Q.12 Pandrol clips cannot be used wilh
(a) woodensleepers  (b) concrete sleepers
(c) CST-8sleepers (d) siecl rough sleepers

6. (¢} 7.(d} 8.(b) 9. (c) 10.(v)




